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National Testing Agency

Test Date : o1 sep 2022 Test Slot : siot 1

ISubject : PGQPO5-English

SIl. No.1
QBID:1007001

Choose the correct sentence.

(1) Itis high time he will start earning
(2) Itis high time he started earning
(3) Itis high time he starts earning

(4) Itis high time he has started earning

fraferfiga 4 & # @1 a9 3w ey 87
(1) 9,5,
(2) @,9a,4d
(3) =,9,d@
(4) 94,9, %

i1[Option ID=1501]
2[Option ID=1502]
3[Option ID=1503]
4[Option ID=1504]

Sl. No.2
QBID:1007002

From among the four options given, choose the correct sequence of the four phrases given
below. to make a meaningful sentence :

(A) I am rediscovering

(B) On the rising COVID numbers

(C)  Nervously, with one eve

(D) The joy of travel. albeit
(1) (D), (B), (A). (C)

(2) (C).(A). (B). (D)

(3) (B). (C). (D). (A)
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(4 (A), (D). (©). (B)

o | g oG9 HIH G e 0 | e snan 8 38w wed 87
1) & afe

(2 TrEY

(3) =g EfY

(4) @ Ey

1[Option ID=1505]
2[Option ID=1506]
3[Option ID=1507]
4[Option ID=1508]

Sl. No.3
QBID:1007003

Which of the following iz a one-word substitute for ‘a soldier who fights for the sake of
money’?

(1) Hireling
(2) Mercenary
(3) Assasin
(4) Hitman
frafofiga 4 & fra ez @ fed 8 fom afrads =8 d@ar?
(1 Ha
(2 =
() =
(4) HHI

1[Option ID=1509]
2[Option ID=1510]
3[Option ID=1511]
4[Option ID=1512]

Sl. No.4
QBID:1007004

Identify the correct form of indirect speech of the following sentence.
The policeman said to us. “Where are you going?”
(1) The policeman asked us about our destination.

(2) The policeman requested where are you going.
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G) The policeman ordered us to go where he wanted.
(4) The policeman enquired where we were going.

199 4 329 & fawa o S Fe S e, SH FI Fed 27

(1) Hd9M
(2) fag
(3) &l
(4) o fagioo

1[Option ID=1513]
2[Option ID=1514]
3[Option ID=1515]
4[Option ID=1516]

Sl. No.5
QBID:1007005

In the sentence below a part is italicised. Which of the choices as a replacement will improve
the sentence?

I hate as you can sing so well and I can't.

(1) hate

(2) hate 1t that

(3) hate that

(4) hate1t

fraferfiga s #1 gd ww @ @mEe

A e sfafea 326 #5851

(B) N eguH angs v ufes

(€) o€ aul de el d v F e g

(D) e foell &, o= fam e, fiaEeh
(E)  3/meg 9el 10, |el 3eeH taEitd g foman

1=t fau o faseai § | | 3w 1 =54 fife

(1) (B). (O). D). (A). (E)

(2)
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(D). (C). (B). (E), (A)
(3) (C). (E). (A). (D). (B)

(4) (E). (D). (B). (A). (C)

1[Option ID=1517]
2[Option ID=1518]
3[Option ID=1519]
4[Option ID=1520]

Sl. No.6
QBID:1007006

From among the four options given, choose the preposition that will be the best fit for both
the blanks in the sentence given below :

When you bring home a pet. it soon becomes a member ——— the family and 1ts loss 1s
as devastating as the death ——————— any loved one.

(1) off

(2) in

(3) of

(4) with
fr=ferfiga o & vja am fafa fifsw -
(1) 9% | TN 7@ Wehe F el
(2) faan e s yed | 74 orar)

(3) fow 3@a 9 sean & dgs Mg
(4) weA 1 faum #a 33

i1[Option ID=1521]
2[Option ID=1522]
3[Option ID=1523]
4[Option ID=1524]

Sl. No.7
QBID:1007007
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Match List I with List II

ListI List IT
(word) (linked word)
(A) letters () time
(B) papers (II) printed
(C) cards (III) friends
(D) clock (IV) basket

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(I). (C)-(IV), (D)-(I1I)
(2) (A)-(IV), (B)-(ID), (C)-(I), (D)-II)

(3) (A)-III), (B)-(IV). (C)-(I), (D)-(I)
(4) (A)-(IV), (B)-(I1I). (C)-(D). (D)-(IT)

9N AU g1 A aren @ F fore ue vies wegu
(1) #eaw

(2)  syengEdl

(3) ¥

(4) fquid

1[Option ID=1525]
2[Option ID=1526]
3[Option ID=1527]
4[Option ID=1528]

Sl. No.8
QBID:1007008

Choose the correctly spelt word.
(1) Wharewhithal
(2) Wherewithal
(3) Wherewital
(4) Where whital
*I4 |1 Y158 "3’ 1 gFgarE a6 27

(1) 9Es

(2) =™
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) ufm
(4) =aifa

1[Option ID=1529]
2[Option ID=1530]
3[Option ID=1531]
4[Option ID=1532]

Sl. No.9
QBID:1007009

Choose the correct option to make a meaningful sentence.

The paragraph should not ———— five hundred words.
(1) Accede
(2) Exceed

(3) Access

(4) Excess

=i 1% g g 11 =1 fwam $ifse
g1-1 gH-11

N farenm
(A) A D w9
(B) fuer (II) s
(©) T (D) g
(D) Hf4= av) fre
1 feu o faered 6 & o 3w 1959 Fifs

(1) (A)-(D). (B)-(II). (C)-(III). (D)-(IV)
(2) (A)-(ID), (B)-(IV). (C)-(I), (D)-(I1T)
(3) (A)-IID. (B)-(ID). (C)-(OIV). (D)-(I)

(4) (A)-(V), (B)-(III). (C)-(I). (D)-(II)

1[Option ID=1533]
2[Option ID=1534]
3[Option ID=1535]
4[Option ID=1536]

Sl. No.10
QBID:1007010
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Choose the correct passive voice form of the following sentence :
People are destroying large areas of forest every day.
(1) Large areas of forest was being destroved every day.
(2) A large areas of forests were destroved every day by the people.
(3) Large areas of forezt are being destroved every day.

(4) Every day people have destroved large areas of forest.
frrefefiaa & & gerat veenfae -
(A TH 9
(B)  ATamdid, 3 a9l wigh
(C)  &Fhl-hl T8 S1E1
(D) i det i s
(E) el Jrferat swrap 44 i

4 fau o fasedi § € 9l 39 #1994 Fifsu ;
(1) (A). (C) 3 (D)

(2) (A), (B) 3 (E)
(3) (B). (C) 31 (D)

(4) (C). (D) 3 (E)

1[Option ID=1537]
2[Option ID=1538]
3[Option ID=1539]
4[Option ID=1540]

Sl. No.11
QBID:1007011

Former Indian cricket captain Gundappa Ranganatha Vishwanath has penned his
autobiography titled ———————— co-authored by senior journalist R Kaushik.

(1) Playing It My Way
(2) The Test of My Life

(3) Wrist Assured : An Autobiography
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(* 981 and Bevond

qd Wit R FHE jEon Ty favaay 3 deciaw afts wEER SR RfYE F Y S e
sfiier & ferdi:

(1) ©ENEEED

(2) 772 HE HIE A5

(3) T weiE g HiEEndl
(4) 281 ugfags

1[Option ID=1541]
2[Option ID=1542]
3[Option ID=1543]
4[Option ID=1544]

Sl. No.12
QBID:1007012

Who has been elected as the new President of South Korea to replace incumbent President
Moon Jae-in?

(1) Lee Jae-mung
(2) Ban ki-Moon
(3) Hong Joon-pyo

(4) Yoon Suk-yeol
TEE Tfd B9 -39 o T4 9 afeqvr i 1 371 aegafd B g9 e
(1) i s-gn
(2) @3 #1-44
(3) EMSH-9A
(4) ZA gF-fast

1[Option ID=1545]
2[Option ID=1546]
3[Option ID=1547]
4[Option ID=1548]

Sl. No.13
QBID:1007013

Who has become the first engineer to become the chief of army staff?

(1) Lieutenant General Manoj Pande

(2) Lieutenant General B.S. Raju
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(3) Lieutenant General Manoj Mukund Narvane

(4) Commander-in-chief Upendra Dwivedi
T YEeT SS9t i 2 S Yeraarege) 9417
(1)  wffede =T B4 gve

(2) @z sare il vE. e
(3) ®ffee Sive WA Yaha Fa

(4) #HTe 24 A% 392 234

1[Option ID=1549]
2[Option ID=1550]
3[Option ID=1551]
4[Option ID=1552]

Sl. No.14
QBID:1007014

Who has won the 2022 Laureus Breakthrough of the Year prize?

(1) Valtentino Rossi
(2) Emma Raducanu
(3) Tom Brady

(4) Neera) Chopra

ATfE Sl A% 2 §20 gren 2022 fFes sfia?

(1) T T
(2) URIITEEA
(3) cmad

(4) i =g

1[Option ID=1553]
2[Option ID=1554]
3[Option ID=1555]
4[Option ID=1556]

Sl. No.15
QBID:1007015

Which of the following has launched the world's first index family focused exclusively on
tracking the price of carbon removal?

1) NIFTY
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(2) SENSEX
(3) NASDAQ

(4) NABARD

Y o ?
1) Fwd
(2) @ad
(3) FrEmE
(4) A

1[Option ID=1557]
2[Option ID=1558]
3[Option ID=1559]
4[Option ID=1560]

PDF.js viewer

fferfiaa & & s #1eia 319939 % g2 %1 g ore & fon fasm w9 @ ufan FEa fava 1 9uw gass

Sl. No.16
QBID:1007016

Find the next number
19,31,45,61,
(1) 81

2 79

(3) 90

(4) 84

19, 31, 45, 61,

(1) 81
(2) 79
(3) 90
(4) 84

1[Option ID=1561]
2[Option ID=1562]
3[Option ID=1563]
4[Option ID=1564]

frferfiaa geen © surefi Gem adqrE)

Sl. No.17
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(1)
(2)
(3)

(4)

(1)

(2)

(3)

(4)

QBID:1007017
If MONKEY 1s coded as OPNZFL, How will PIGEON be coded?

RKIGQP
HJQFPM
GJOPFR
RKIPQG

afs MONKEY #1 OPNZFL % 9 § #izeg fa1 st 2, @1 PIGEON 1 & Fieag g1 smom?

RKIGQP
HJQFPM
GJOPFR

RKIPQG

1[Option ID=1565]
2[Option ID=1566]
3[Option ID=1567]
4[Option ID=1568]

(1)

(2)

(3)

(4)

(1)

(2)

(3)

(4)

Sl. No.18
QBID:1007018

Choose the pair the best represents a similar relationship to the one expressed in the original
pair of words.

Cobbler : Shoe

Carpenter : Wood
Mason : Brick
Contractor : Building

Potter : Mud

frferfiaa sredi % et 7w | =iford daa &1 auEdl #1 @aig €9 3 9Eqd #E arel 36 1 9H:
IfTFﬁ:q\?'lT

q%% : AFL
faed 92
FhaN - WA
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1[Option ID=1569]
2[Option ID=1570]
3[Option ID=1571]
4[option ID=1572]

Sl. No.19
QBID:1007019

Sham left his home and walked 12 km towards South - East. Then he turned right and
walked another 8 Km. Again he turned right and ran for 15 Km. Then he turned 45° in
clockwise direction and continued walking. In which direction he 1s walking now with respect

to starting point.
(1) North-East
(2) North
(3) South

(4) North-West

vars H94 = ¥ e il afau-gd faan 8 12 fad men) e g aifed g2 oiv 8 fw i s wen) gz e
afed ge1 sin 15 fadl @ dren fie 3z 9l % =er i faen | 45° qm = gean s v e 32 w9E faeg
1 e | fore faen | =e w27

(1) F-d
(2) 3

(3) =fém

(a) FH-ulvay

1[Option ID=1573]
2[Option ID=1574]
3[Option ID=1575]
4[Option ID=1576]

Sl. No.20
QBID:1007020

Ram said to Ashok that the woman standing in front of him has a grand daughter who 1s
the only daughter of my brother. How is woman related to Ram?

(1) Aunt
(2) Mother

(3) Wife

(4) Grand mother

ndl.iitkgp.ac.in/cd_document/cuetpg/lagp05_eng_01sep2022 12/39
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W 3 3390 E el TR 3as ama o gfeen @ 2 saeh v O 2, Ut aid ) gaelid 98 21 |91 38 gigen #
T @ ) GE 27

(1) ==

(2) HI
(3) Ul
(4) =l

1[Option ID=1577]
2[Option ID=1578]
3[Option ID=1579]
4[Option ID=1580]

Sl. No.21
QBID:1007021

A family consists of a mother. a father, and some children. The average age of the members of
the family 1s 20, the father is 48 years old. and the average age of the mother and children 1s

16. How many children are in the family?

1 8
() 7
3) 9
(4 6

e uftan 8 s ui, va e i #@ a8 ufEn # ol gl A sfmd 3y 20 2, fan i 3y 48 ad 2 s
ui qut el #1 3 3 16 v 8| ufraw § faad a=1 87

(1) 8
2 7
3 9
(4) 6

1[Option ID=1581]
2[Option ID=1582]
3[Option ID=1583]
4[Option ID=1584]

Sl. No.22
QBID:1007022

What is the value of K . for which one root of the quadratic equation Kx* —14x+8=0 is six
times the other?

1) 1
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(2) 5
3) 3
(4) 4

afs fgendia @i Ka® —14x + 8 = 0 %1 U 1VI% 61 & @: [ R dl K %19 #41 2m?

1) 1
(2) 2
(3 3
(4) 4

1[Option ID=1585]
2[Option ID=1586]
3[Option ID=1587]
4[Option ID=1588]

Sl. No.23
QBID:1007023

A dealer sold a bicycle at a profit of 10%. Had he bought the bicycle at 10% less price and sold
it at a price ¥ 60 more, he would have gained 25%. The cost price of the bicycle was :

(1) ¥2.600
(2) ¥ 2.000
3) T2.200
(4) T2400

e Sl 4 Usk Al 10% oy W e afz 367 Fnfra 10% w9 g o @il @ 338 € 60 v sifus
qod Al A 39 25% 1 A glanl |EfEe #9 wa-yea i o -

1) ¥2,600
@ %2,000
3 ¥2,200
@) ¥2,400

1[Option ID=1589]
2[Option ID=1590]
3[Option ID=1591]
4[Option ID=1592]

Sl. No.24
QBID:1007024
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In a business, "B is a sleeping partner and " A’ i1s a working partner. " A invests ¥ 5,000 and
‘B’ invests ¥ 6,000. ‘A’ receives 12%% of profit for managing the business and the

remaining profit is divided in proportion to their capitals. A's share of profit in a total profit
of ¥8801s:

1) 350
(2 T 400

(3) ¥420

(4) F460

U% saEE | B us fafer araien 2 3 A va sl anEfier 21 A0 5,000 %1 Fa9 Fen @ si
‘B % 6,000 F1 4391 %A1 8| s5ad@ 1 Ya- G916 & 00 A & A1 12%°-osrm€m%3ﬂ1§wm
3l 5fl % g & wiz fam sren 2) afe e ey T80 2l A @ H femmn fas 2 -

(1) %350

(2) T 400
3) 420
(4) T 460

1[Option ID=1593]
2[Option ID=1594]
3[Option ID=1595]
4[Option ID=1596]

Sl. No.25
QBID:1007025

A train 800 metres long 1s running at a speed of 78 Km per hour. If it crosses a tunnel in
1 minute, then the length of the tunnel (in metres) 1s :

(1) 130

(2) 360
(3) 500
(4) 540

800 Wi el v ¢4 78 o H1. /e ) =rel & e @ 21 afe g e g v e d o i 2 9 g
ewad (dier | ) o 27

) 439
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(2) 360
(3) 500
(4) 540

1[Option ID=1597]
2[Option ID=1598]
3[Option ID=1599]
4[Option ID=1600]

Sl. No.26
QBID:1011001

Who wrote 'Archetypal Criticism' ?
(1) Fredric Jameson

(2) Terry Eagleton

(3) Northrop Frye

(4) Stuart Hall

1[Option ID=1]
2[Option ID=2]
3[Option ID=3]
4[Option ID=4]

Sl. No.27
QBID:1011002

What was the pen-name of Samuel Clemens ?
(1) Joyce Carol

(2) Mark Twain

(3) Thomas Hardy

(4) Eric Blair

1[Option ID=5]
2[Option ID=6]
3[Option ID=7]
4[ Option ID=8]

Sl. No.28
QBID:1011003

"Give me the extension and motion and I will construct the universe." Who said this ?
(1) Galileo
(2) William Harvey

(3) Reneé Descartes

ndl.iitkgp.ac.in/cd_document/cuetpg/lagp05_eng_01sep2022
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(4) ;
Francis Bacon

1[Option ID=9]

2[Option ID=10]
3[Option ID=11]
4[Option ID=12]

Sl. No.29
QBID:1011004

Which Shakespearean play has a character called Prospero ?

(1) Othello
(2) Tempest
(3) Merchant of Venice

(4) King Lear

1[Option ID=13]
2[Option ID=14]
3[Option ID=15]
4[Option ID=16]

Sl. No.30
QBID:1011005

Which of the following text does not come under Science Fiction ?
(1) The War of the Worlds

(2) The Lord of the Rings

(3) Journey of the Center to the Earth

(4) Hard Times

1[Option ID=17]
2[Option ID=18]
3[Option ID=19]
4[Option ID=20]

Sl. No.31
QBID:1011006

Who amongst the following is the first Indian English playwright to have received
the SahityaAkademiAward ?

(1) Vyay Tendulkar

(2) Mahesh Dattani

(3) GirishKarnad

(4) Rabindranath Tagore

1[Option ID=21]

ndl.iitkgp.ac.in/cd_document/cuetpg/lagp05_eng_01sep2022
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2[Option ID=22]
3[Option ID=23]
4[Option ID=24]

Sl. No.32
QBID:1011007

What following text cannot be classified under Magic Realism ?

(1) One Hundred Years of Solitude

(2) Midnight’s Children

(3) The Tin Drum

(4) A Fine Balance

1[Option ID=25]
2[Option ID=26]
3[Option ID=27]
4[Option ID=28]

Sl. No.33
QBID:1011008

G.C. Spivak translated Of Grammatology into English. Who wrote it ?

(1) Jacques Derrida

(2) Noam Chomsky
(3) Sigmund Freud
(4) Saussure

1[Option ID=29]
2[Option ID=30]
3[Option ID=31]
4[Option ID=32]

Sl. No.34
QBID:1011009

The first Novel of Indian English literature is
(1) Rajmohan’s Wife
(2) Satyameva Jayate

(3) Kanthapura
(4) Coolie

1[Option ID=33]
2[Option ID=34]
3[Option ID=35]
4[Option ID=36]

Sl. No.35
QBID:1011010
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A Vindication of the Rights of Woman was written by
(1) Simone de Beauvoir

(2) Hélene Cixous

(3) Mary Wollstonecraft

(4) Elamne Showalter

1[Option ID=37]
2[Option ID=38]
3[Option ID=39]
4[Option ID=40]

Sl. No.36
QBID:1011011

**A thing of beauty is a joy forever’” occurs in
(1) **Ode on a Grecian Urn™
(2) ‘““Endymion"’
(3) *Ode to Autumn’™

(4) “‘Ode to Melancholy™

1[Option ID=41]
2[Option ID=42]
3[Option ID=43]
4[Option ID=44]

Sl. No.37
QBID:1011012

The title of William Faulkner’s The Sound and the Fury has been derived from a play
by

(1) William Shakespeare

(2) Christopher Marlowe

(3) Ben Johnson

(a) Samuel Beckett

1[Option ID=45]
2[Option ID=46]
3[Option ID=47]
4[Option ID=48]

Sl. No.38
QBID:1011013

i translation 1s being faithful and accurate to the source language text.

(1) Distortion

ndl.iitkgp.ac.in/cd_document/cuetpg/lagp05_eng_01sep2022
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(2) Target Language
(3) Fidelity

(4) None of the above

1[Option ID=49]
2[Option ID=50]
3[Option ID=51]
4[Option ID=52]

Sl. No.39
QBID:1011014

Which book begins with “of man’s first disobedience”
(1) Tintern Abbey

(2) Paradise regained

(3) Paradise Lost

(4) The Waste Land

1[Option ID=53]
2[Option ID=54]
3[Option ID=55]
4[Option ID=56]

Sl. No.40
QBID:1011015

The dramatic term ‘Anagnorisis’ signifies
(1) Discovery

(2) Resolution

(3) Climax

(4) Complication

1[Option ID=57]
2[Option ID=58]
3[Option ID=59]
4[Option ID=60]

Sl. No.41
QBID:1011016

Who wrote the famous work Orientalism (1978) ?
(1) Michel Foucault
(2) Edward Said

(3) G.C. Spivak

(4)

ndl.iitkgp.ac.in/cd_document/cuetpg/lagp05_eng_01sep2022
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HomiBhabha

1[Option ID=61]
2[Option ID=62]
3[Option ID=63]
4[Option ID=64]

Sl. No.42
QBID:1011017

“*The language of the age is never the language of poetry.”” Who said this ?

(1) Thomas Gray
(2) James Thomson
(3) Philip Sidney
(4) Alexander Pope

1[Option ID=65]
2[Option ID=66]
3[Option ID=67]
4[Option ID=68]

Sl. No.43
QBID:1011018

Which among the following novels is not by D.H. Lawrence ?
(1) Sons and Lovers

(2) Dubliners

(3) The Rainbow

(4) Lady Chatterley’s Lover

1[Option ID=69]
2[Option ID=70]
3[Option ID=71]
4[Option ID=72]

Sl. No.44
QBID:1011019

Who among the following was not an imagist ?

(1) Ezra Pound

(2) TE.Hulme

(3) Dylan Thomas

(4) Hilda Doolittle

1[Option ID=73]
2[Option ID=74]
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3[Option ID=75]
4[Option ID=76]

Sl. No.45
QBID:1011020

Martin Esslin introduced the concept of

(1) Alienation effect

(2) Theatre of the Absurd

(3) Affective Fallacy

(4) Authoritarianism

1[Option ID=77]
2[Option ID=78]
3[Option ID=79]
4[Option ID=80]

Sl. No.46
QBID:1011021

The Myth of Sisyphus (1942) was written by

(1)  Albert Camus

(2) Martin Esslin
(3) J.P. Sartre

(4) M. Heidegger

1[Option ID=81]
2[Option ID=82]
3[Option ID=83]
4[Option ID=84]

Sl. No.47
QBID:1011022

The following are Components of Sigmund Freud’s theory of mind except

(1 I

(2) Ego

(3) Super Ego
(4) Superld

1[Option ID=85]
2[Option ID=86]
3[Option ID=87]
4[Option ID=88]

Sl. No.48
QBID:1011023
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Who wrote the Pickwick Papers ?
(1) Thomas Hardy

(2) Franz Kafka

(3) Charles Dickens

(4) Henry James

1[Option ID=89]
2[Option ID=90]
3[Option ID=91]
4[Option ID=92]

Sl. No.49
QBID:1011024

Goblin Market was written by
(1) Stephen Spender

(2) Kathleen Raine

(3) Christina Rossett1

(4) Ezra Pound

1[Option ID=93]
2[Option ID=94]
3[Option ID=95]
4[Option ID=96]

Sl. No.50
QBID:1011025

“‘Epistle to Dr. Arbuthnot’” is written by

(1) Alexander Pope

(2) Jonathan Swaift
(3) R.B. Sheridan

(4) John Dryden

1[Option ID=97]
2[Option ID=98]
3[Option ID=99]
4[Option ID=100]

Sl. No.51
QBID:1011026

Who amongst the following is the first African-American woman to receive the
Nobel Prize for Literature ?

(1) Alice Walker

(2)
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Maya Angelou
(3) Toni Morrison
(4) Zora Neale Hurston

1[Option ID=101]
2[Option ID=102]
3[Option ID=103]
4[Option ID=104]

Sl. No.52
QBID:1011027

Whom did John Keats regard as the prime example of ‘negative capability’?

(1) John Donne
(2) John Milton
(3) William Shakespeare

(4) William Wordsworth

1[Option ID=105]
2[Option ID=106]
3[Option ID=107]
4[Option ID=108]

Sl. No.53
QBID:1011028

Who among the following is credited with the making of the first authoritative

dictionary of English language ?
(1) Bishop Berkley

(2) Horace Walpole

(3) Edmund Burke

(4) Samuel Johnson

1[Option ID=109]
2[Option ID=110]
3[Option ID=111]
4[Option ID=112]

Sl. No.54
QBID:1011029

What is the name of Belinda’s lapdog in Alexander Pope’s The Rape of the Lock ?

(1) Luck
(2) Muck
(3) Pluck
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S Shock

1[Option ID=113]
2[Option ID=114]
3[Option ID=115]
4[Option ID=116]

Sl. No.55
QBID:1011030

Which of the following plays was not written by Christopher Marlowe ?
(1) Tamburlaine

(2) Dr. Faustus

(3) HemylIl

(4) The Jew of Malta

1[Option ID=117]
2[Option ID=118]
3[Option ID=119]
4[Option ID=120]

Sl. No.56
QBID:1011031

During which of the following periods did the Puritans, under the rule of Oliver
Cromwell and his Commonwealth shut down all English theatres on religious and
moral grounds ?

(1) 1603 -1625
(2) 16251640
(3) 1640 -1660
(4) 1649 -1660

i1[Option ID=121]
2[Option ID=122]
3[Option ID=123]
4[Option ID=124]

Sl. No.57
QBID:1011032

Arrange the following in correct chronological sequence :
A. William Tyndale’s New Testament

B. The Norman Conquest
C. Death of Geoffrey Chaucer
D. The Birth of William Shakespeare

(1) BCAD
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(2) ¢cBDA
(3) BCDA

(4) ABDC

1[Option ID=125]
2[Option ID=126]
3[Option ID=127]
4[Option ID=128]

Sl. No.58
QBID:1011033

Who among the following was not a practitioner of ‘New Criticism” ?

(1) I.A.Richards

(2) John Crowe Ransom
(3) T.S.Ehot

(4) M.H. Abrams

1[Option ID=129]
2[Option ID=130]
3[Option ID=131]
4[Option ID=132]

Sl. No.59
QBID:1011034

Which of the following is not a partition novel ?

(1) Tamas
(2) Train to Pakistan
(3) The Shadow Lines

(4) The God of Small Things

1[Option ID=133]
2[Option ID=134]
3[Option ID=135]
4[Option ID=136]

Sl. No.60
QBID:1011035

‘Euphemism’ stands for
(1) Depiction of a situation as it is
(2) Depiction of a situation in a complex way
(3) Depiction of a distasteful situation m an alternative way

(4) None of these
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1[Option ID=137]
2[Option ID=138]
3[Option ID=139]
4[Option ID=140]

Sl. No.61
QBID:1011036

Caliban in The Tempest is an anagram of
(1) Canibal

(2) Cannible

(3) Both(1)and(2)

(4) None of the above

1[Option ID=141]
2[Option ID=142]
3[Option ID=143]
4[Option ID=144]

Sl. No.62
QBID:1011037

“Turning and Turning in the widening gyre
The Falcon cannot hear the falconer:
Things fall apart: The centre cannot hold:
Mere anarchy is loosed upon the world.™

These lines have been taken from which of the following poems written by
W.B. Yeats ?

(1) A Prayer for my Daughter
(2) The Second Coming

(3) Among School Children

(4) Sailing to Byzantium

1[Option ID=145]
2[Option ID=146]
3[Option ID=147]
4[Option ID=148]

Sl. No.63
QBID:1011038

Who introduced the **Touchstone Method'” in poetry ?

(1) Robert Browning
(2) Matthew Amold

(3) William Wordsworth
(4) John Keats

ndl.iitkgp.ac.in/cd_document/cuetpg/lagp05_eng_01sep2022 27/39



2/7/25, 2:08 PM PDF.js viewer

1[Option ID=149]
2[Option ID=150]
3[Option ID=151]
4[Option ID=152]

Sl. No.64
QBID:1011039

Salman Rushdie won the Booker of Bookers Prize in 1993 for

(1) Grimus

(2) The Satanic Verses
(3) Midnight’s Children

(4) Shalimar The Clown

1[Option ID=153]
2[Option ID=154]
3[Option ID=155]
4[Option ID=156]

Sl. No.65
QBID:1011040

Match the following :

!A. IT he Jungle |I. iLeo Tolstoy

B. |The Grapes of Wrath 1. [Upton Sinclair
C. |War and Peace I |Charles Dickens
!D. lA Tale of Two Cities IV.|John Steinbeck

Choose the correct answer form the options given below :

(1) A-L B-IL. C-III. D-IV
(2) A-IIL B-III. C-IV. D-I
(3) A.IL B-IV. C-I. D-IIT
(4) A-IL B-I. C-II1. D-IV

1[Option ID=157]
2[Option ID=158]
3[Option ID=159]
4[ Option ID=160]

Sl. No.66
QBID:1011041

Coleridge’s Biographia Literaria came out in

(1) 1815
(2) 1816
(3)
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1817

(4) 1818

1[Option ID=161]
2[Option ID=162]
3[Option ID=163]
4[Option ID=164]

Sl. No.67
QBID:1011042

In Dryden’s Essay of Dramatic Poesy (1668), who opens the discussion on behalf of
the Ancients ?

(1) Lisideius
(2) Neander
(3) Eugenius
(4) Crites

1[Option ID=165]
2[Option ID=166]
3[Option ID=167]
4[Option ID=168]

Sl. No.68
QBID:1011043

**All novels are about certain minorities : the individual is a minority.” Who said this ?
(1) Ralph Ellison

(2) Ezra Pound

(3) E.M. Forster

(4) Lewss Carroll

1[Option ID=169]
2[Option ID=170]
3[Option ID=171]
4[Option ID=172]

Sl. No.69
QBID:1011044

Waiting for Godot, the famous play was written by

(1) Harold Pinter
(2) Edward Albee

(3) Samuel Beckett

(4)  None of the above
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1[Option ID=173]
2[Option ID=174]
3[Option ID=175]
4[Option ID=176]

Sl. No.70
QBID:1011045

Who is the poet of **The Rime of the Ancient Mariner’" ?
(1) S.T. Coleridge
(2) Willilam Wordsworth

(3) P.B. Shelley

(4) Lord Byron

1[Option ID=177]
2[Option ID=178]
3[Option ID=179]
4[Option ID=180]

Sl. No.71
QBID:1011046

“*Tradition and the Individual Talent™’ was written by
(1) Gayatri Spivak
(2) Héléne Cixous
(3) T.S. Elot

(4) Ezra Pound

1[Option ID=181]
2[Option ID=182]
3[Option ID=183]
4[Option ID=184]

Sl. No.72
QBID:1011047

Hind Swaraj was written by
(1) Gopal Krishna Gokhale

(2) Maulana Abul Kalam Azad

(3) Dr.Sarvepalli Radhakrishnan
(4) M.K.Gandhi

1[Option ID=185]
2[Option ID=186]
3[Option ID=187]
4[Option ID=188]
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Sl. No.73
QBID:1011048

‘The pen is mightier than the sword” — this is an example of
(1) Pathetic fallacy
(2) Synedoche

(3) Transferred Epithet
(4) Metonymy

1[Option ID=189]
2[Option ID=190]
3[Option ID=191]
4[Option ID=192]

Sl. No.74
QBID:1011049

Who has authored Godan ?

(1) Amrita Pritam

(2) Munshi Premchand
(3) Indira Goswami

(4) Rahi Masoom Raza

1[Option ID=193]
2[Option ID=194]
3[Option ID=195]
4[Option ID=196]

Sl. No.75
QBID:1011050

Match List I with List IT

ListI List II

[Toru Dutt *“The Old Playhouse™’

Sarojini Naidu ““Without Place™

Kamala Das

“*A Sheaf Gleaned in French Fields™

IR

2B BT

Meena Alexander **An Anthem of Love™’

Choose the correct answer form the options given below :
(1) A-IIIL B-IV. C-II. D-I
(2) A-IIL B-IV, C-1. D-II

(3) A-IIL B-1. C-IV. D-II
(4)
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A-IV. B-III. C-1. D-II

1[Option ID=197]
2[Option ID=198]
3[Option ID=199]
4[Option ID=200]

Sl. No.76
QBID:1011051

Who 15 the author of the play. Final Solutions ?
(1) Vyay Tendulkar
(2) Mohan Rakesh

(3) Mahesh Dattani
(4) Girish Karnad

1[Option ID=201]
2[Option ID=202]
3[Option ID=203]
4[Option ID=204]

Sl. No.77
QBID:1011052

O Wind. If Winter comes, can Spring be far behind.” What figure of speech is
used ?
(1) Metaphor

(2) Rhetorical Question
(3) Pun
(4) Paralipsis

1[Option ID=205]
2[Option ID=206]
3[Option ID=207]
4[Option ID=208]

Sl. No.78
QBID:1011053

Who among the following is a primary exponent of Gothic Romance ?

(1) Anne Bronté
(2) Horace Walpole

(3) Charles Dickens

(4) Thomas Hardy

1[Option ID=209]
2[Option ID=210]
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3[Option ID=211]
4[Option ID=212]

Sl. No.79
QBID:1011054

“Daffodils’" 1s a poem written by
(1) William Blake

(2) William Wordsworth

(3) John Keats

(4) William Shakespeare

1[Option ID=213]
2[Option ID=214]
3[Option ID=215]
4[Option ID=216]

Sl. No.80
QBID:1011055

Which of the following plays was written by Harold Pinter ?
(1) The Birthday Party

(2) A4 Doll’s House

(3) Volpone

(4) Arms and Men

1[Option ID=217]
2[Option ID=218]
3[Option ID=219]
4[Option ID=220]

Sl. No.81
QBID:1011056

D.H. Lawrence uses the expression ‘‘one bright book of life’” to describe

(1) The novel

(2) The dramatic monologue

(3) The Bible
(4) None of the above

1[Option ID=221]
2[Option ID=222]
3[Option ID=223]
4[Option ID=224]

Sl. No.82
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QBID:1011057
Which of the following has not been awarded with the Booker Prize twice ?
(1) Margaret Atwood

(2) JM. Coetzee

(3) Peter Carey

(4) V.S. Naipaul

1[Option ID=225]
2[Option ID=226]
3[Option ID=227]
4[Option ID=228]

Sl. No.83
QBID:1011058

““To be. or not to be™” is a statement from which of the following plays of William

Shakespeare ?
(1) Othello
(2) King Lear

(3) Hamlet
(4) Macbeth

1[Option ID=229]
2[Option ID=230]
3[Option ID=231]
4[option ID=232]

Sl. No.84
QBID:1011059

Who 1s the author of Sexual Politics ?
(1) Kate Millett
(2) Sandra Gilbert
(3) Margaret Atwood

(4) Hélene Cixous

1[Option ID=233]
2[Option ID=234]
3[Option ID=235]
4[Option ID=236]

Sl. No.85
QBID:1011060

“*O my love’s like a red. red rose’’ 1s an example of
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& Metaphor

(2) Hyperbole

(3) Smmle

(a) None of the above

1[Option ID=237]
2[Option ID=238]
3[Option ID=239]
4[Option ID=240]

Sl. No.86
QBID:1011061

“‘Peripetia’’ means

(1) Recognition of error
(2) Tragic flaw

(3) Reversal of fortune

(4) Purgation of emotion

1[Option ID=241]
2[Option ID=242]
3[Option ID=243]
4[Option ID=244]

Sl. No.87
QBID:1011062

Who defended poetry against Stephen Gosson's The School of Abuse ?

(1) John Dryden
(2) Alexander Pope

(3) Philip Sydney
(4) P.B. Shelley

1[Option ID=245]
2[Option ID=246]
3[Option ID=247]
4[Option ID=248]

Sl. No.88
QBID:1011063

Which one among the following is regarded as the first English Comedy ?

(1) Ralph Roister Doister

(2) Gammer Gurton’s Needle

(3)
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Gorbuduc
(4) Love’s Labour’s Lost

1[Option ID=249]
2[Option ID=250]
3[Option ID=251]
4[Option ID=252]

SI. No.89
QBID:1011064

Who wrote the famous work Sherlock Holmes ?
(1) P.D. James

(2) Edgar Allan Poe

(3) Arthur Conan Doyle

(4) Agatha Chnistie

1[Option ID=253]
2[Option ID=254]
3[Option ID=255]
4[Option ID=256]

Sl. No.90
QBID:1011065

Heathcliff 1s a character in
(1) Middlemarch

(2) Wuthering Heights

(3) The Return of the Native
(4) Bleak House

1[Option ID=257]
2[Option ID=258]
3[Option ID=259]
4[Option ID=260]

Sl. No.91
QBID:1011066

Find the odd one out.
(1) Horace Walpole
(2) Mrs. Radcliffe
(3) Mathew Lewis

(4) James Boswell
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1[Option ID=261]
2[Option ID=262]
3[Option ID=263]
4[Option ID=264]

PDF.js viewer

Sl. No.92
QBID:1011067

The Norman Conquest took place in

(1) 1022
(2) 1106
(3) 1066
(a) 1016

1[Option ID=265]
2[Option ID=266]
3[Option ID=267]
4[Option ID=268]

Sl. No.93
QBID:1011068

“‘But at my back I always hear

Time’s wingéd chariot hurrying near,

And yonder all before us lie

Deserts of vast eternity.”’

These lines have been taken from a poem. written by

(1) John Donne

(2) Abraham Cowley
(3) Henry Vaughan '
(4) Andrew Marvell

1[Option ID=269]
2[Option ID=270]
3[Option ID=271]
4[option ID=272]

Sl. No.94
QBID:1011069

The word *‘Catharsis™” signifies
(1) Personification
(2) Purgation
(3) Pontification

(4) None of the above
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1[Option ID=273]
2[Option ID=274]
3[Option ID=275]
4[Option ID=276]

PDF.js viewer

Sl. No.95
QBID:1011070

The term **Metaphysical Poets’ was first used by
(1) Ben Johnson
(2) Samuel Johnson
(3) John Dryden

(4) John Lyly

1[Option ID=277]
2[Option ID=278]
3[Option ID=279]
4[Option ID=280]

Sl. No.96
QBID:1011071

Negative Capability 1s a term comned by
(1) William Wordsworth
(2) John Keats
(3) W. Blake

(4) P.B. Shelley

1[Option ID=281]
2[Option ID=282]
3[Option ID=283]
4[Option ID=284]

Sl. No.97
QBID:1011072

Confessions of an English Opium-Eater 1s written by

(1) William Hazlitt
(2) S.T. Coleridge
(3) Thomas De Quincey

(4) Leigh Hunt

1[Option ID=285]
2[Option ID=286]
3[Option ID=287]
4[Option ID=288]
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Sl. No.98
QBID:1011073

Find the odd one out.

(1) Socrates

(2) Plato

(3) Aristotle

(4) Horace

1[Option ID=289]
2[Option ID=290]
3[Option ID=291]
4[Option ID=292]

Sl. No.99
QBID:1011074

The Enlightenment was characterised by

(1) An undue faith in predestination and neglect of free will
(2) The Protestant work ethic and compliance with Christian values of life

A belief in the universal authority of reason and emphasis on scientific

(3 7% :
e.\pcnmentatlou

(4) Accelarated industrial production and general well-being of the public

1[Option ID=293]
2[Option ID=294]
3[Option ID=295]
4[Option ID=296]

Sl. No.100
QBID:1011075

The famous play ‘Dr. Faustus® is written by

(1) William Shakespeare
(2) T.S.Elot
(3) Chrnistopher Marlove

(4) George Bemard Shaw

1[Option ID=297]
2[Option ID=298]
3[Option ID=299]
4[Option ID=300]
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